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PART —A

Answer all. Each carries 1 mark.

1. Evaluate §+i——7—.
8 5§ 12

3 4 5 7

i ber in the following —, —, — and —.

2. Find the largest number in the Tollowing 512’9 16

3 Find the fraction equivalent to 0.3434....
e 2 4
4. Find the value of 6 +12*5_E+7—2*4'

5. Write down the identity matrix of order 3.
6. Find 6C,.

P.T.O.



- _ dy S
/ Find if v-58x24a
dx y =9 *

8  Evaluate [(x” + 2x + 3)dx

9 What are accelerated depreciation methods?

t wants to purchase j

10 The exchange rate of EURO/INR is 86. A European touris
Id he pay?

handicraft costing Rs. 17,200 from Kerala. How much Euro shou
(10 x 1 =10 Marks)
PART - B

Answer any eight questions. Each carries 2 marks.

11. Sam spent 1/6 of his Sunday doing homework and 1/2 of the day watching

~ cricket. What part of the day was left to do other things?

1 2 3] 0 1 2]
12 'fA:[ = [
12 3 4JandB (_3 5 5J,ﬂnd2A+3B.

13. IfA={1,234, 5 andB={2,4,6,7),find AUB and AnB.

14. Solve the system of linear equations 3x +2y = 8 5x-3y="7.

15. If one root of the equation 8x%2 - 6x+k =0 be square of the other, prove that
k=1or-27.

16, Find the number of words that can be made with all the letters of the wora
MATHEMATICS.

17. Find the derivative SX if y=x?logx.
X

i M — 2499



8 . -
8. Find the adjoint of the matrix

-t =i A
N W N
AW W

19 The followin ‘
g data gives the j IR
bar diagram. 'Mmport of India in different years. Construct a simple

Year
S. 1984 1985 1986 1987
Import in crore of Rs. 576 657 707 850

20. Convert 9.66666.... into fractions.

21. The scrap value of a '
machine costing Rs. 1 '
to Rs. 2,785. Find the rate of deprecigtion: 08t ond o 10 yeers s capal

22 i
Zer‘1 Ltd. manufactures a single product with a sale price of ¥ 16 per unit and a
variable cost of ¥ 10 per unit. Fixed costs are % 48,000 p.a. Calculate break

even point in units and sales.

(8 x 2 =16 Marks)
PART -C

A\nswer any six questions. Each carries 4 marks.

23. Convert 12.7623623623....to a fraction.

11 1
24. Find the value of the determinant |2 3 4
1 2 -4

25. Solve using cross multiplication 2x -y =13, -x+2y = -11.
26. In how many ways can seven people be arranged at a round table so that two

particular persons may be together?

M — 2499



30.

31.

Evaluate || 3vx+5+ = ax
) X

If one root of the equation x* -8x+Ak =0 exceeds other by 4 .find the vaiye
of k?

A man purchased a house valued at Rs 3.00,000. He paid Rs 2,00,000 at the
time of purchase and agreed to pay the balance with interest of 12% per annum
compounded half yearly in 20 equal half yearly instaiments. If the first instaimen
is paid after six months from the date of purchase. find the amount of each

instalment.

The salary of a private bus conductor consists partly of a fixed sum and partly“ of
commission which varies as the value of sale of tickets. In two consecutive
months he sells tickets worth Rs. 2,000 and Rs.2,500 respec
Rs. 420 and Rs. 445 respectively as salaries for those two months. If his salan

for a particular month becomes Rs. 500. What is the value of the tickets sold by

him in that month?

tively and receives

(6 x 4 = 24 Marks)
PART -D

Answer any two questions. Each carries 15 marks.

32

3 -3 4
(@) Find Aif A=|2 -3 4|
0 -1 1

(b) Solve the system of equations using matrix method.

X+y+2=6,x-y+2=22x+y-z=1.

4 M - 2499



33.

34.

30.

(@)

(b)

(a)

(b)

A ——
e O ——

Draw a sui L
our itable pie diagram for the following data.
Coarse Medium Fine Total

P .
roduction of cotton in 1960 80 26 14 100

P .
roduction of cotton in 1970 132 48 16 196

s. If 3 balls are drawn at

white pall
at all the three are black?

A box contains 2 red, 3 black and 5
bability th

random without replacement, find the pro
: d

F __l i — o
i s Wy sin(e* logx).

oz

R

- g
If z=2x —3xy+5y2+7ﬂnd§z—and :
ox oy

Calculate (i) Creditors Turnover Ratio and (ii) Average payment Period from

the following data:

Cash purchases Rs. 1,40,000

Purchases returns Rs. 20,000

Total Purchases Rs. 10,00,000

Opening creditors Rs. 1,20,000

Closing creditors RS- 90,000

Opening bills payable Rs. 30,000

Closing bills payable Rs. 40,000

Assume 360 days in a year.

M — 2499



(b) On retirement from services two persons A and B are awarded yearly
y have served. A serveq

- pensions in proportion to the number of years the ' _
8 years longer than B and received:Rs. 400 p.m. more in pension. Had the

length of service A exceeded that of B by 12 years, his monthly pensiop,
would have been exactly double of B. How long did each of them serve ang

what were their respective pensions?
(2 x 15 = 30 Marks)

M - 2499
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I.  Answer all questions. Each question carries 1 mark.
number.

A number which has atleast one divisor other than 1 is a

2. When three strings of 240 cm, 318 cm and 426 cm are cut into equal lengths,
cm is the greatest possible length of each piece.

equation in two variables.

3. ax+by=c is the general form

The maximum number of solutions to a quadratic equation is

4.

5 If Ais a matrix of order mxn and B is a matrix of order nxp, then AB is of
order _

6. is a sequence of equal payments made at equal intervals of time.

7. If AnB=¢,then Aand B are said to be sets.

8. A function which assigns a fixed value for every value of x is called
function.

9. A diagonal matrix whose diagonal elements are equal, is called

set of A.

10. The set of all subsets of given set A is the,
(10 x 1 =10 Marks

P.T.



1\

14

1h

\/

8
19
20
21
22
23
24
25
26

) ”uﬂy’t

Ay
W “"v "u.“ |l““¢'“““” (T I "”““”““ s

The sum of 3 consecutive numbers s 107 AL
o | Beuare anit) 18 iy sithe bry ont

Find the least numboer which a9 ol
numbers 10,20 247

Golve Ax o 0ty A4)

2 1

A
0

| ind SA AN

i singuliae

Find x if the matrix
D davys e
Al what rale per annum will simple interest on He 100,000 for 17 days b

Re 4007
A {a b codoe /)
B-{a el o0 i)

Porform (1) AU B (b)y A B
) a sum of money tfroblos |

tgoll at 5% p.a. compound interest

Find in what time
What is a ple dingram?

Define doterminant.

What is a quadratic oquation?

What do you mean by future value of money?

Define break-even price.

Explain any two financial ratios.

Define subsel.

How do you get transpose of a matrix?

(8x2=16 Marks)
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.

27.

28.

29.

30.

3l

32.

33.

34.

35.

Answer any six questions. Each question carries 4 marks.

The cost of a machine is Rs. 40,000. It depreciates 20% annually. What is its

value four years hence?

5 -8 -1 [z 8 &
fA=| 2 -3 -1land B=|1 2 3

-3 5 1 1 -1 1
Find AB.

The difference of the ages of Anil and his father is 30 years. If the difference of
the squares of their ages is 1560, find their ages. "

Azr 7J B:F SJ.
2 6 16
Find AB and [AB[.

Express 5.333... as a rational fraction. -

Find the largest number having 4 digits divisible by 12, 15, 18 and 27.

m of Rs. 20,000 annually to enable it to pay off a
000 at the end of 10 years. Assuming that the sum

A company sets aside a su
m compound, find the surplus after paying off the

debenture issue of Rs. 2,30,
accumulates at 4% per annu

debenture stock.
IfA={1,2,3,4,5},B={2,4,6,8,10},C={3,6,9,12,15}
Find

(a) (AuB)NnC

(b) Au(BNC)

Solve 2x+ 3y =5xy =1.

M - 2501



36.

37.

38.

V.
39.

40.

41.

42.

43.

44,

Solve 2x? +3x-1=0.
Explain the terms permutation and combination.

Explain any two methods for depreciation.

(6 x 4=24 M

Answer any two questioné. Each question carries 15 marks.

(a) In how many ways can 3 boys and 5 girls be arranged in a row so th
the 3 boys are together.

(b) How many 4 digit numbers can be formed with the digits 0, 1, 2, 3, 4, 5,
8, 9 if no two digits are same?

By selling a table for Rs. 56, gain is as much percent as its cost in rupees. \
is the cost price?

A market research group conducted a survey of 1000 consumers and rep
that 720 consumers liked product A and 450 consumers liked product B. Wt
the least number that must have liked both products?

Solve the following by Cramer’s rule.

X+y+z=3
X+2y+3z=4
X+4y+9z=6

Find A" and hence prove that A-adj A :|A|-I, if A= B ﬂ

A man repaid his house building advance in equal instalments of Rs. 40,00C
annum for 5 years. If the money is worth 8% per annum compounded ann
and repayment starts after initial gap of 2 years. Find the sum borrowed.

(2x15=30 Ma
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